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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1) This question paper comprises 39 questions. All questions are compulsory.
(i1) This question paper is divided into five sections — A, B, C, D and E.

(iit) Section A — Questions No. 1 to 20 are multiple choice questions. Each question
carries 1 mark.

(iv) Section B — Questions No. 21 to 26 are very short answer type questions. Each
question carries 2 marks. Answer to these questions should be in the range of
30 to 50 words.

(v) Section C - Questions No. 27 to 33 are short answer type questions. Each
question carries 3 marks. Answer to these questions should in the range of

50 to 80 words.

(vt) Section D — Questions No. 34 to 36 are long answer type questions. Each
question carries 5 marks. Answer to these questions should be in the range of

80 to 120 words.

(vit) Section E — Questions No. 37 to 39 are of 3 source-based /case-based units of
assessment carrying 4 marks each with sub-parts.

(vitt) There 1s no overall choice. However, an internal choice has been provided in
some sections. Only one of the alternatives has to be attempted in such

questions.

SECTION A

This section has 20 multiple choice questions (Q.No. 1 — 20). All questions are
compulsory. 20%x1=20

1. In the electrolysis of water, if the mass of the gas collected at the anode 1s

m, and the mass of the gas collected at the cathode 1s m., the value of

(my/m,) 1s :
(a) 8 (b) 16
1 1
il d d
(c) T (d) ]
31/C/1 3 < P.T.0O.
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9. = feu U yeryt X fa=mR 6
(i)  3IT=ATRd KoCreOy
(ii)) &I KMnOy
(iii) ST
(iv) ETEgIoH

II\JFQ:

T ¥ FHIG: 3TN foRT ST aret SATeEfeRes (3Tt Tee) #

(a) A (i) 3 (ii)
(b)  had (ii) AR (fii)
() (i), (i) 3T (iii)
d) @), (i) 3T (iv)

3. To=fafga ¥ @ 3@ A &1 gHT AT d7F 737 2
(a) GISTH FSSIFHES
(b)  HicHaIH BESIFHTES
(c) HISIH Howhe
(d) 15Tk ATFETES
4. 2g It Gew RS &I fhell IAT Teor # Samn T 3R Hehel gU &l U
UG H Uehd fohdT TRIT | 39 9@ H STd 1T T 3R 39 Yoh &+ foaoraq
1 JOU YYh-gYsh ®Y H Il 3 AT ofewd o=l & @19 fohan & | gal
[aehed gHT
(a) e foterm® el @aT 8 3R a1 Tofems e 81 Sran 2 |
(b) e fotem® & B ATl 8 3R AT forend et &1 @t ® |
(¢) en fotend &t &1 SraT 8 3TR & fofew® et &1 Sian 2 |
(d) e forems e € war 8 3 a1 fofend & & &l 2 |
5. I € T8 ShiA-Hl T 9Tq ATETqaed & AR TdaTd hl A @ ?
(a) W (b) Tk
(c) WS (@) faewr
31/C/1 4 <~
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2. Consider the following substances :
i)  Acidified KoCroOr~
(1)  Alkaline KMnO,
(1) Oxygen
(iv)  Hydrogen
Out of these, the commonly used oxidising agents are :
(a) (1) and (i1) only
(b) (1) and (iii) only
(c) (1), (i1) and (iii)
(d) (1), (11) and (1v)

3. Select from the following compounds which is not a base :
(a)  Sodium hydroxide
(b)  Calcium hydroxide
(¢)  Sodium sulphate
(d) Zinc oxide

4, 2 g of yellow sulphur powder is burnt in a china dish and the fumes are
collected 1n a test tube. Water 1s added in the test tube and the solution 1s

tested separately with blue and red litmus paper. The correct option is :
(a)  Blue litmus remains blue and red litmus turns blue.

(b)  Blue litmus turns red and red litmus remains red.

(c) Blue litmus turns red and red litmus turns blue.

(d) Blue litmus remains blue and red litmus remains red.

5. Which one of the following metals 1s malleable and a poor conductor of

electricity ?

(a)  Copper (b)  Zinc
(c) Lead (d) Silver
31/C/1 - B < P.T.0O.
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6. 39 ITA hl AT sl GV HIAT ITEd =, tﬂj 3TYRT JITTSTAT H hadk I
3UTeY T8l g | fciRgd § | fohd AfTehl I g T B =l A ol ol

(i)  GIfSIH T BIEGISH HIAHC
(ii) TR T Howe

(ili)  hfcaIH P FALZS

(iv) TIfSTH 1 HEHS

(a) (1) 3 (ii)

(b) (i) 3R (iii)

(¢) (i) 3R (iv)

@ () 3 (iv)

R, SN

7. = ST T HTeH I HIH-HT Teh T[0T HleH o TcA(eh T H Ik a9H
feTT STterlt 727 2 2
(a) IR Gl
(b)  HHIEIST
(¢c)  AIEUdI

d) HEH

8.  Torell =hIfSTehT o ShITITeRT §od § IEE R FAAREN, I & Yol H Tehisl &
for@ues o AW | -1 310] 344 BIal & ?

(a) fdesh 3TTA (b)  TUIATA
(c)  hIeA SRATFHES (d) UIEde

9. fea & o o forelt Mg g fy & o0 Yob BF ITcll ke SIE3TadTSS
qTaT 3Afees B4 o1 IO Jat & Toh
(a) &7 o THY I8 39 &I Bl 2 |
(b) e & oo =g wivai o dfeq & I 2

(¢) T4 % au9 IO e SEATFAES i TR AT ThIS-GIaN0 |
39T B STl 2

(d) Y T o gHY yaua-fhaT 981 id & |

31/C/1 - 0
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6. You want to test for hardness of water but hard water is not available in
the laboratory. Which of the following compounds may be dissolved in
pure water to make it hard ?

(1) Hydrogen Carbonate of Sodium
(1)  Sulphate of Magnesium
(111) Chloride of Calcium

(iv) Carbonate of Sodium

(a) (1) and (i1)
(b) (1) and (111)
(c) (111) and (iv)
(d) (1) and (iv)
7. Which one of the following properties of Carbon i1s not responsible for its
formation of large number of compounds ?
(a) Tetravalency
(b)  Isomerism
(c)  Allotropy
(d)  Catenation
8. Which one of the following molecules 1s produced initially when glucose

breaks down in the cytoplasm of a cell in aerobic as well as anaerobic
respiration ?

(a)  Lactic acid (b)  Ethanol
(c) Carbon dioxide (d)  Pyruvate
9. As compared to daytime, the amount of carbon dioxide released by the

plants during night is more because :
(a) It 1s not produced during daytime.
(b) It 1is stored in the leaves of plants during daytime.

(c) Major amount of carbon dioxide produced is used up for
photosynthesis during daytime.

(d)  Plants do not respire during daytime.

31/C/1 <7 P.T.O.
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10. 98 Sid N9 SHeheh™ | his SR fIehidd glent 931 Sl &9 J1dT &, shid-971 & ?

(a)  ITHIET (b)  UUHITSRM
(¢c) TBAYH d) o=

11. " & g o i (TT) 3R WX & g o4 i (tt) & fohel damor 1
F, gafd 4 yiH 93t 7g o« 9 IGlaquﬁrévﬁ%ﬁ ST TAYIATOT AT TT,
Fo, 9igt § 919 9l o1 S-G9 gr

(a) TT:Tt: tt (b) TT: tt
(c) 1t : 1t (d) TT : Tt

12. 9 fordl fora &l fopdl 39 @9 & WA 2F 9 R T ST &, dl d94 9T
gfafera <1 Tepfa = &t 2 2

(a) dTEdfdes, 3eel, 9rss | ford § Sl

(b) aTEdfdeh, HieN, Ues H farg 9 &2
(¢c) ST, e, grss | forg O 91
(d) dEdide, 3cdl, 9rss | forg ¥ &8l

13. 9 Ydd YT 1 hig Had I~ fohel ohid o U9 o ToRaT &, df 98 31adl
quit (TM) # fawmiod &1 Sran 2 | 38 qitee i wEd §

(a) RIS o1 TorEul
(b)  JehTST SR QUI G

(¢) TSRS <Rl YhIUH

(d)  TeRTST R faequr

14. Tag[ad QU JREAT o 94 319Td ol S | IUAT 8H a1 9g1ef i
(a) UfdOeehdr 3= 3R T4 3= BHT ATRT |
(b)  IfaUgehdl 3= AR TeHRh HH 81 =M18T |
(¢)  YfaUegehal = 3T a4 3= §HT I18T |
(d)  Sfdgesdr =1 37T TeHTes 99 g =g |

31/C/1 - 8 <
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10. The organism in which an outgrowth on the parent body develops into a
new individual is :

(a) Amoeba (b) Paramecium
(c) Rhizopus (d)  Yeast

11. In a cross between pure tall pea plants (T'T) and pure dwarf pea plants
(tt) the offsprings of F; generation were all tall. When F{ generation was
self-crossed, the gene combinations of the offsprings of F9 generation will

be :
(a) TT:Tt:tt (b) TT:tt
(c) Tt : tt (d) TT : Tt

12. When an object is placed beyond 2F of a convex lens, the nature of the
image formed 1is :
(a) Real, inverted and diminished
(b)  Real, erect and magnified
(c)  Virtual, erect and magnified

(d)  Real, inverted and magnified

13. When a narrow beam of white light passes through a glass prism it splits
into 1its component colours ? This phenomenon 1s called :
(a)  Daffusion of light
(b)  Total reflection of light
(¢)  Scattering of light
(d)  Dispersion of light

14. A material used for making heating elements of electrical heating devices
should have :
(a)  High resistivity and high melting point.
(b)  High resistivity and low melting point.
(c) Low resistivity and high melting point.

(d)  Low resistivity and low melting point.

31/C/1 = 9 - P.T.O.
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15. Topet ar 1 gfquy Fefefgd 5 9 foeg AR 787 5tar g 2

(a) AR <hl AETS

(b) R ! IIEA-HIC Hl ATHA
(¢) O <hl 3ATehid

(d) dR T 9ard

16. GHM i bl g/ YaTed s 9T (i) fret afarterert & ofidt qon (i) fore
19 FTeteh o I A Icqa Jraeh!d &3 hl AThIAAT HA: Bldl @ :

(a) (1) 9, (i) JTTeh X

(b) (1) IdTehN, (11) ITThR
(c) ()il (i) |ied
(d) () IAORR, (ii) "I

97 G&IT 17 @ 20 & 70, @ 97 30 70 § — [G77 vF &1 A9FIT (A) 7T
TR &1 FWOT (R) GRT 3ifesd fasam 741 & | 39 991 & @@l 3¢ 414 137 77 &It
(a), (b), (c) AR (d) H & G FT |
(a)  3ATHRIA (A) A SR (R) AT Tl 3 JN HRU (R), A9HAT (A) hl
TE SATEAT LT 2 |
(b)  AWHAA (A) 3R HRU (R) SEI F&l &, T HRUT (R), AHHAT (A) !
TE AT 7T Ll & |
(c) 3T (A) T&l 8, 9 R (R) TAd & |
(d) 3R (A) Td &, Tg ST (R) & 3 |

17. 39597 (A) : TEEHS 9T Nay,SO, + BaCl, > BaSO, + 2NaCl,
4 gifead Faise Aa&fud aiar & |

FRU(R): Ao fpdl TAT T | shls 31 Tot¥a Ham=n S &, af his
I gerd s94aT & 59 31989 *hed 2 |

31/C/1 <+ 10 =~
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15. The resistance of a wire does not depend on its :
(a) Length
(b)  Area of cross-section
(c) Shape
(d)  Material

16. The shape of magnetic field lines produced (i) inside a solenoid
(1) around a straight conductor, both carrying current of the same

magnitude are, respectively :

(a) (1) straight, (i1) circular
(b) (1) circular, (11) circular
(¢) (1) straight, (i1) straight

(d) (1) circular, (i1) straight

For Questions number 17 to 20, two statements are given — one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (a), (b), (c) and (d) as given below.

(a)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) 1s not
the correct explanation of the Assertion (A).

(c) Assertion (A) 1s true, but Reason (R) 1s false.

(d)  Assertion (A) i1s false, but Reason (R) 1s true.

17. Assertion (A) : In the reaction, NaoSO,4 + BaCl, > BaS0O,4 + 2NaCl,

sodium chloride 1s precipitated.

Reason (R): When an aqueous solution is added to another aqueous
solution, an insoluble substance is formed, which is called

precipitate.

31/C/1 <11 = P.T.0O.
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18. 37497 (A): 98 BHI 8 Uufelias 317l *hgd &, diedl # dJig 1 deHA
AT 3 |

RO (R): UGl § AT(de hl YUehl Tfedideh 370 ohl YfHep! o [quild
gl 2 |

19. 3Y%Y7 (A) : HEEl 1 YA AL Udeh 3R HIGeh aFI1 o6 DNA g JHTIed
gal g |
HRU(R) :  Tqa1 hl gor1 | fohell T3] H Hran s A ugied s i
JNTEH BIAT 2 |

20. 3YFHYT(A): AN h HER o UYETd TR H Jdid B Al S5eY Jod

YehTS] T i TIaeH Bl @ |
FROUT(R): A hl & 9 BI TUSHI hl WIfd i Hidl 7 |

Wis 9

21. (%) I8 91 ‘A’ 38 I ° AUl § AYTHAT Hidl 8 3T Hepard et 19
AN Yhg odl & | g8l 3 91 ‘B’ 919 I H gAlg Sl g, al del
AT L ¢l & | 91q ‘C’ 3 AYT TH ST § whig ATTIhAT T8I il &,
U W9 ° 3TMThaT Hidl & | 91 ‘D’ 9 & fohddl JR i i &lg
37tfeRaT 81 et 3 | ‘A’ ‘B, ‘C7 TR ‘D’ <hl Ug=e shifoig | 2

HAT

(@) <9 T AMfehl — FISTH FAREES AN hicadd FARIESS bl Teh-Ush hish
g & fordl IR <l SaTell W SR ST 8, dl 98 Sardl okl (9 1

Y&H HId @ |
1) (1) FIsIH FASS T (2) HicdIH FAEES g Y fohu A
T T o 919 forfaue |
(ii) o1 A AT e [Tl 6 hUTEA IYET Ui H§ Jo9ia
g ? U4 I ! 4P HiT | 2
22, 3 UlET o A foiRgu 5ok @1a RIS | Weld 8 | 39 @Tal o &l il ol
=l S8 | 2
31/C/1 12 =

o
gcollegedunlaa
India’s largest Student Review Platform

-



18. Assertion (A) : A hormone called abscisic acid inhibits growth in plants.
Reason (R): The role of auxins 1s opposite to that of abscisic acid in

plants.

19. Assertion (A): Each human trait is influenced by both paternal and
maternal DNA.

Reason (R): As compared to the father, the mother contributes more
amount of genetic material to the child.

20. Assertion (A): A rainbow 1s an artificial spectrum of white light
appearing in the sky after a rain shower.

Reason (R): The water droplets act like small prisms.

SECTION B

21. (a) A metal ‘A’ reacts violently with cold water and the gas evolved
catches fire. Another metal ‘B’ when dipped in water starts
floating. The metal ‘C’ does not react either with cold or hot water,

but reacts with steam. The metal ‘D’ does not react with water at
all. Identity the metals ‘A’, ‘B’, ‘C’ and ‘D’. b

OR

(b)  When two compounds namely sodium chloride and calcium
chloride are heated directly, one by one on the flame of a burner,

they impart different colours to the flame.

(1) Name the colour imparted by (1) sodium chloride and

(2) calcium chloride.
(1) Are these compounds soluble in organic solvents such as

kerosene or petrol ? Justify your answer. 2

22. Name the glands which add their secretions to the sperms. List two

function of these secretions. 2

31/C/1 <+ 13 =~ P.T.0O.

o
gcollegedunlaa
India’s largest Student Review Platform

-




e
23. “Omal # Topdl Fasta ] 1 TolT Uar @ (9T htar 8, Arar W AR 81 it
g | Ja1g ARG 1 HEHIAT § 39 YA ol gfee hifTT | 2

24, (%) & TCU T ATHSI o ATYR G fREHl MAT U g &4 Jidiers ol
AT AT HITT -
u=-—20cm,f=-15cm
HAAT
(@) Tordt staae edur g ot fore o1 afafars s9=m <o & fore 39 feurfa
o

4 Yty fomur M@ difuu, 9o fare g o 9
Jshdl g o oIg &9 7 | 9

25. 91 BT g Tohel =R Tagla ufay, fSes 220 V @ 9RT &1 3794 10 A 7,
398 3 kW; 220 V 3HATH bl et fogd Wl o1 Jared fohaT St 8 2 39

ap
o8
i

3T h! R0 Higd Yfse shioT | 2
26. (%) TAIEEH o AAI I g1 § HUS o IcAl ol ITAN LA & Th Y
feTiaT |
(@) & &6 H 3Iud 39 RIS o Fuge Fuer i fomel @ fafern <A
H=ll S8 | 2
Wus 11
27. UhII-GIANY fohE hEd & ? 3 37 IR TRl (HIfyehT) o 91 faige fSad
JehTI-FYAYY BT 8 | 39 YehH | 3T(GHIS hal | b &l 8 ? 37 hIaigised]
1 T BIAT @ TSTehl 9T - SUANT &l L UTd & ? 3
28. (&) g PeH Aleh X AMSTH H AT i T EESIeH Gib il & |
Tal s X |G TR 3 hi TR | 443 KT T fohU S W
hls STHH AFTeh SHTAT 7 |
(i) X <hl 9= <hilWT |
(i)  IuYeh ANTHATI o TEEHS FHIRU fTRgy qor gadl AfHisha
T |15 GeRIeh 3T hl YfHeh! 1 Ieci@ hiTaT | 3
HAAT
31/C/1 <= 14 <~
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23. “In human beings, the sex of a newborn child depends on the father and
not the mother.” Justify this statement with the help of a flow diagram.

24. (a) Find the magnification of the image formed by a spherical mirror
from the following data :
u=—20cm, f=—- 15 cm.

OR
(b)  Draw a labelled ray diagram for the image formation by a concave
mirror when an object 1s placed between its centre of curvature
and focus.

25. What will happen if an electric oven of rating 3 kW; 220 V is operated in
a domestic electric circuit (220 V) that has a current rating of 10 A ? Give
reason to justify your answer.

26. (a) State any one advantage of using cloth bags over plastic bags.

(b) List any two methods by which the solid wastes generated in
urban areas can be safely disposed off.
SECTION C

27. What 1s photosynthesis ? Name the organelle and the organs in which
photosynthesis takes place. Where does the oxygen liberated come from
during this process ? What happens to the carbohydrates which are not
immediately used by the plant ?

28. (a) An organic compound X’ when reacts with sodium liberates
hydrogen. The same compound ‘X’ when heated at 443 K in the
presence of concentrated sulphuric acid gives an unsaturated
hydrocarbon.

(1) Identify X .

(1) Write the chemical equations for the above mentioned
reactions and state the role of concentrated sulphuric acid in
the second reaction.

OR
31/C/1 15 =~ P.T.O.
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(@) ()  ohrEd o Jiies AT T 4 TR =01 81d 8 ?
(i) EqE 3R Mgy Afehi o = fadgT HINT | gH THR % U™
JifTehl shl TLaHT Witw ek 31U | shreid GHIS bl T&IAT dH
gl | 3

™

29. (%) HHd IFET T H HiUBISA] shl GL=HT 3T H HI Ioci@ hiT |

(@) SFpE H a1 o IS I & =1 qredd & ? 3

30. UIeUl g <hisd SISATFITES UTH i b Toheal 2l @ 1 Iecig shifolw | T¢T <k
Ga 3 ¢ gH 1 SR fRaT | 3

31. Toved yvrag fhY hed 8 ? UH 2 3B I IS8 39 99T kT TeuT fema
ST 8 | 39 9"t hl =T o i sror v | 3

32. (&) (1) TRl giATICTRT R JATHR HUSal o s fade il |
ii) =TT shifse T foret foemera it sememen | foret afETietent 1

fohd Joh X ST ST Fhdl 2 |

AN~

(iii) Torelt graTEl iETieret @ Hiat 399 T IEEh T & 1 b
T 39T TARgU | 3
HAAAT

(@) - HIehd YRUY G 1 GgIdl ¥ fhdl grraTal HY Ieis o IRl 311
3T rechY &F hi Jraehd & {1l hl Y- GU3T | SATEAT hiliT
foh &M b JepR AT B&a ATse oM hl wgrar | fohdl Ta=[a-ama
U] IcUd FEeIhIT & hi Teum 27fehd L Hehd & | 3

33. Ul X <kl gfeamn forfge | fopel AR sq@en | gH (1) fgdareh 3T (i) Jdieh
39AThl foh Uit T WX firerd 8 2 @R g Afe forelt didt T & @t Sfiai &
Ty Bl ST ? 379 I hl hRUT Higd gfse hIfST | 3

31/C/1 <+ 16 =~
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having three carbon atoms in their molecules. 3
29. (a) Give the structure and function of alveoli in human respiratory
system.
(b)  What 1s meant by residual volume of air in the lungs ? 3
30. Write any two ways by which plants obtain carbon dioxide. What causes
the opening and closing of the stomata ? 3
31. What 1s Tyndall effect ? Give two examples where this phenomenon 1s
observed. (Give reason to explain this phenomenon. 3
32. (a) (1) Differentiate between a solenoid and a circular coil.
(1) Explain how a solenoid can be made in a school laboratory.
(111)  Write one use of the strong magnetic field produced inside a
current carrying solenoid. 3
OR
(b)  With the help of a labelled circuit diagram, illustrate the pattern of
the magnetic field lines of the magnetic field produced around a
straight current carrying conductor. Explain how, with the help of
right-hand thumb rule, we can determine and mark the direction
of magnetic field lines due to a current. 3
33. Define trophic levels. At which trophic level do we find (1) secondary and
(11) tertiary consumers in a food chain ? What will happen if all the
organisms of a trophic level die ? Give reasons to justify your answer. 3
31/C/1 =17 =~ P.T.O.

(b) (1) Why are carbon compounds exceptionally stable ?

(11) Difterentiate between saturated and unsaturated

compounds. Give structures of both the types of compounds
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34. ()
(@)
31/C/1

(1)

(i1)

(111)

(1v)

(V)

(1)
(1)

(111)

QUE q
g oy faeea i eng &1 aa s ea1 2 | = feu o

fohd Taetad o1 MY faa™ W I8 Iiady Icshivd &1 Sue ?

(1) g™
(2)  HHIEH BSSIFHES
(3) THThI

(4)  Ffcaam Go®e

T feu U ANfires /et @ H-91/9 SHTeHATTT & faaem
<l T[QATST T /AT ?

(1) CH3COOH

(2)  Ca(OH),

(3) HCI
(4) NaOH

39 Y &1 9W fargu ST oo arehia giar 8 | 39 fooem

1 9TH /9 TRaT |

qYIFE! & Sh 1 UGN HH o [T AR et 1 I39Fm
ERIEIGIER R I,

(1) THTST 3R (2) SHA H 9T¢ JH ITA 37FA hl A0 fafgu | 5

3T
o STl <hl gieyTaT feaRgu |

feRdt UH ATk 1 THRHS A9 3R IGeh! I Ty TorEeh 319

T forteed ST 3ufeda giar & 37 i gdid g1 2 |

[t U1 b1 THEHS I [IRIT | 38k W01 | §H 9Tl
JTYThAT o1 Aqictd TS THIhE TIRay | $9eh diF 3TN
shl F=l ST | 5
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34. (a)

(b)

31/C/1

(1)

(11)

(111)

(1v)
(v)

(1)

(111)

SECTION D

An aqueous solution turns blue litmus red. Which of the
following solutions when added in excess would reverse the
change ?

(1) Lemon juice

(2)  Magnesium hydroxide

(3)  Vinegar

(4)  Calcium sulphate

Out of the following, which compound/compounds will turn

the phenolphthalein solution pink ?
(1) CH3COOH

(2)  Ca(OH)s

(3) HCI
(4) NaOH

Name a gas whose aqueous solution i1s basic. Write the

formula/name of this solution.
A basic substance 1s used to treat a honey-bee sting. Why ?

Name the acid which 1s present in (1) Tomato and

(2) Tamarind. 5
OR

Define water of crystallisation.

Write the chemical name and formula of a compound having

water of crystallisation in 1ts molecule and appears blue.

Write the chemical formula of bleaching powder. Write a

balanced chemical equation of the reaction involved in its

preparation. List its three uses. 5
st 19 — S P.T.O.
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35. (¥) (1) HHEI HAQG T4 T o 39 AT &l 9 TIRIGT &I A=faigd wH
1 TFqTe BdT @ :

(1)  3TUS[ hl Y]
(2) 308 3TN IhI1Y[ ol T (Fu=m)

(3) WA 1 IV
(i) o7 gId1 8 59
(1)  37vg 1 8=+ g1d1 2 ?
(2) 31U T FN=H g BT 8 ? 3+2=5
HAAT
(@) (1)  IcIh ol Ueh-Ush 3CTaLUT Cehl ST hiflU :
(1)  Ushicrfl qoq
(2) 3IuATA T

(i) Teu U Mm@ § Afkd wm A, B, C 3K D &1 919 faRgu |

(ii))  “FTo= o ToHT IO 81 Fehal 8 9i=q WFTT o o1 fAu=d T8 &
ghdl 8 |7 36 YA hl R Figd gfse hIfT | 5
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39.

(a)

(b)

31/C/1

(1)

(11)

(1)

(11)

(111)

Name the parts in the human female reproductive system
where the following functions take place :

(1)  Maturation of eggs

(2)  Fusion of the egg and the sperm

(3) Implantation of the zygote

What happens to the egg

(1) when 1t 1s fertilised ?

(2) when 1t 1s not fertilised ? 3+2=5
OR

Explain by giving one example each :
(1) Unisexual flowers
(2) Bisexual tflowers

Name the labelled parts A, B, C and D in the diagram given
below.

“Pollination may occur without fertilisation but fertilisation
will not take place without pollination.” Give reason to

justify this statement. 5
<271 < PTO
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36. (%) Toga 1 % UM AHF o gk H e Had & | IHHhI JEdia

a1 fafgu 37 39 A 3R o7t & SI AEH & a9 T9Y T hifou |

(@) Terdt Tasga 9fay <1 g/ AHAe 1:0 A 8 | Iith 37AAT 8 W; 220 V
& fohad LED ¥4 Ush & 919 39 UiWy # fHde &9 & 39InT fhu S
gehd & ? 5

©"is

FHETICTIEd F97 GId-3TTERT/FG-STERT J97 & | 4 &1 G195 96T 3R 15T

T g9l & I 5T |

37. 9 HHAR & YTl H foud oty Tarq k1 10T 1600 99 g9 g3 o1 | 3 A
92 Y 394 TYF W TSl g 3 39 W I H his =g T2l & | Ig e9dl @
39 THY o U YRA o 9Tq TR0 5 Gt YshAl sl qU §9 ¥ Toehidd
i & Y- Tafd= argaat sl guara W@ il debeles i faehfaa T ol off |
gTq bl USd T@H % M shy ThAI oH T 91l sl Udci! Wd FGHI
(ei9=), Tsmg s, oF1fg grr fope Sma 9 |

(%) aTgAl i Alshadr AU H A Hal fod g ? I8 Yebfd H fora/fomm
®Y /T H qIAT 4T 8 2 1
(@) Yo 3R e o o= faved e | 1

() a3 I ST A /HAROT § S9H hi oheal Gl [T hl ST hilolT | 2

HAAT

(1) T gl AR A o TR oAl ehl GURT ol SIS o oIt UqiHf=m <
3G 1 TohT SATAT 8 ? BIH et ATHTShAT o1 AqicTd TETIHSh THIHIT

Ty | 2
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36. (a) The commercial unit of electric energy is commonly known as
‘unit’. Write 1ts actual name and establish the relationship between
this unit and the SI unit of energy.

(b)  The current rating of a circuit is 1':0 A. How many LED lamps of
power rating 8 W; 220 V can safely be used simultaneously in this

circuit ? 5

SECTION E

The following questions are source-based/case-based questions. Read the case

carefully and answer the questions that follow.

37. The iron pillar in Qutab Minar complex in Delhi was built 1600 years
ago. It 1s still standing intact and shows no signs of rusting even today.
This shows that the ancient metallurgists of India in those times had
fully developed metallurgical processes as well as the techniques of
protection of different metals. The protection of metals, was done by

several processes like coating of a thin film of another metal, alloying etc.

(a)  Where 1s 1iron placed in the reactivity series of metals ? Write the

form/forms in which its ores are found in nature. 1
(b)  Differentiate between roasting and calcination. 1

(c) Explain any two methods that are employed to prevent

rusting/corrosion of metals. 2

OR

(c) Why is aluminium used to join railway tracks or the cracked
machine parts of ‘iron’ ? Write a balanced chemical equation for

the reaction which occurs. 2

31/C/1 < 23 < P.T.0O.

o
gcollegedunlaa
India’s largest Student Review Platform

-




38.

39.

Sl H IR R TH-aF 1 I dfAehl X UM Haehi giT AT STl 7 |
AlAehl Ideh k] SHITIERIST AYAT =T o Teh FIISA ATA I &1 BT & |
UGl | HI=ET Ueh Sidd UishdT & forad 3Afeer Sfea fsparfater i afser d«9em
afefetd 8d 8 | 3 AiEdsh H Hehigd aid & Sl HMd IR 1 J&I T59d &g

8 | Afedssh a9 Hels] gl diehl aF & HH"UTW%Gﬁ‘\’a'{a?H‘Hﬁ 9T 9
FEATE 9TH hid & I 35! THhEH hid o |

() ATETGl 3R dAlel | AfEdsh i T fohd TR Bl & ?

AN i I

(@) dfdadt =@ ° (1) Faal = (AERIEERT) T (ii) I dlAhIRER
7] %1 filEy |

(M) (1) UfEA Bl ISET AR (ii) I (THF) A § T Tfedseh bl -9l
N Gfgfdd a1 & 2 Sod@ hio b I8 Tohad ufesss 8 319l
3f=ah |

HAAT

i T i

(1) e dHee! aF faiya fhameradl o foit g TR IR o 311 91T o

g9 YSdT 2 239 a3 o 2l 3199d] & 9 fafgu |

Sfe TRl A1eqH 4 TqHE ohis I Tohtor fhdl o= wieam | fqdeha: o
hidl g, dl I8 U< BT ° b AT & | 39 TRESHT Sl YehIST i 3 had
2 | Torelt a1eam <h1 YRt Rl 3T9STdd hid bl &HAT skl 3IEh YhI19Th Icd g
i =k TohaT A1 Tehdl 8 | ohTINIeh Ocd godq ©Fcd o 99 A8l & | &
Tored w1eg®’ AR “Gud HIeAw el (Wegl) 1 YANT hid & fSeh dreda § Y
ShHST: “gepTiTeh foiel Trey” 3R “Yehlisres TeH HIEIH 2 | 919 89 J8 had &
foh TTEqq A, HTe9H B hl T § YehTisreh 9o &, dl S9! A9 I8 Bidl 8
for H1EIH A T 3T9dd-Teh HIEIH B 6 379ddqreh d 374 g | faier Areay |
RT3 <hl AT o9 HIEIH U JehI¥ hl Il 8 Ak Bl 8 | 39 TR foid
eI © TU9 HISAH H TG o a1 YR <hl fohtor <hi =9 it & St @

3R a8 AT i AR Foh AT & |
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38. In animals the control and coordination i1s provided by nervous and
muscular tissues. Nervous tissue is made of an organized network of
nerve cells or neurons. In human beings, thinking 1s a complex activity
which 1involves more complex mechanisms and neural connections. These
are concentrated in the brain which is the main coordinating centre of the
human body. The brain and spinal cord constitute the Central Nervous
System which receives information from all parts of the body and

integrates it.
(a)  How 1s the brain protected from shocks and injuries ? 1

(b)  Write the main functions of (1) sensory neuron and (i1) motor
neuron in a reflex arc. 1

(c) Which part of the brain is involved in activities like (1) picking a
pencil and (11) vomiting ? State whether these actions are
voluntary or involuntary. 2

OR

(c) How does the central nervous system communicate with other
parts of the body to carry out various activities ? Name two
components of this system. 2

39. When a ray of light moving in a medium enters obliquely into another
medium, it bends from its path. This phenomenon is called refraction of
light. The ability of a medium to refract light is also expressed in terms of
optical density. It 1s not the same as mass density. We use the terms
‘rarer medium’ and ‘denser medium’ which actually means °‘optically
rarer medium’ and ‘optically denser medium’ respectively. When we say
that a medium ‘A’ is optically denser than the other medium ‘B’, we mean
that the refractive index of medium A is more than the refractive index of
medium ‘B’. The speed of light 1s higher in a rarer medium than a denser
medium. Thus a ray of light travelling from a rarer medium to a denser

medium slows down and bends towards the normal.

31/C/1 < 25 < P.T.0O.
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() Terel HTEIH o HTU&T 37T ohl HHTNT TR | 1

(@) I AR i o U ad-Teh HA: % 3R % g |

1) 39 aFI H1EIHl B © fhEH TRty i =1 Y 8 2
(ii) I Yt I hig fomiur fodend: &g O I | Yo Hidl g, dl
T I AV hl TR G a1 e ¥ g hl I gell 2 1

() I 3T A & U AYad-Teh hH: % 3R % 8 | Al hid U bl

hl I 2 x 108 m/s B, a1 (i) ST 3T (ii) Fata § Teprr <l =1 314
HINTT. | 2

HAAT

() “foRdll ot "I § g fohell SIATRR Whid o Tid T AIIAd shig Teh1¥l

[h(UT T o THTR 71d &Il & |” 39 A ! gisd & Toiu AmHTiehd

feR{U] 3T WU | 2
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(a) Detfine the term absolute refractive index of a medium. 1

(b)  Absolute refractive indices of water and glass are % and :

2
respectively.

(1) In which one of the two media is the speed of light more ?

(11) If a ray of light enters obliquely from glass to water, will it

bend towards the normal or away from the normal ? 1

(c) The absolute refractive indices of water and glass are % and 3

2
respectively. If the speed of light in glass is 2 x 10% m/s, find the

speed of light in (1) water and (i1) vacuum. 2

OR

(c) “A ray of light incident on a rectangular glass slab immersed in
any medium emerges parallel to itself.” Draw a labelled ray

diagram to justify this statement. 2

31/C/1 =27 <

o
gcollegedumaa
India’s largest Student Review Platform

-



